USN					



Internal Assessment Test I-June 2021

Sub:	Sub: Advanced Calculus and Numerical Methods Sub Code: 18MAT21									
Date:	22/06/2021 Duration: 90 mins Max Marks: 50 Sem / Sec: Common for all						Common for all B	ranches	OBE	
1.	Solve $y'' - 4$	4y' + 4y =	$e^{2x} + \cos x$	x + 4.				MARKS [08]	CO ₂	L3
2.	Solve $\frac{d^2y}{dx^2}$	$\frac{dy}{dx} - 6\frac{dy}{dx}$	$+9y = \frac{6}{3}$	$\frac{e^{3x}}{x^2}$ by Metho	od of	variation of	f parameters.	[07]	CO2	L3
3.	Solve $(2x +$	$3)^2 \frac{d^2y}{dx^2} -$	$(2x+3)\frac{d}{d}$	$\frac{y}{x} - 12y = 6x$	ζ.			[07]	CO2	L3
4.	Solve $x^3 \frac{d^3}{dx}$	$\frac{y}{3} + 2x^2 \frac{d^2z}{dx}$	$\frac{y}{2} + 2y = 1$	$0(x+\frac{1}{x})$				[07]	CO2	
	The current i at E satisfy $L \frac{d^2q}{dt^2}$		~ 1	•			acitance C and emf at t=0.	[07]	CO2	L3
	Form the parti $f\left(z^2 - xy\right)$		al equation	by eliminatio	n art	itrary funct	ion	[07]	CO3	L3
	Solve $\frac{\partial^2 z}{\partial x^2} + $ $z = 1$ and $\frac{\partial}{\partial x}$			et to the condition	on tha	nt		[07]	CO3	L3

$$\frac{d^2y}{dx^2} - \frac{4dy}{dx} + 4y = e^{2x} + \cos x + 4$$

$$8^2y - 40y + 4y = e^{2x} + \cos x + 4$$

$$[0^2y - 40y + 4y] = e^{2x} + \cos x + 4$$

$$[0^2y - 40y + 4y] = e^{2x} + \cos x + 4$$

$$[0^2 - 40 + 43y] = e^{2x} + \cos x + 4$$

The auxiliary eqn is.

$$H^{2} - 4m + 4 = 0$$

$$(m-2)^{2} = 0$$

$$m = 2 \cdot 2$$

$$50. \quad y_{2} = (c_{1} + c_{2}x)e^{2x}$$

$$Now, \quad y_{1} = \frac{e^{2x} + \cos x + 4}{D^{2} - 40 + 4}$$

$$\int_{0^{2} - 40 + 4}^{2} \frac{e^{2x} + \cos x}{D^{2} - 40 + 4} + \frac{4e}{D^{2} - 40 + 4}$$

$$= \frac{xe^{2x}}{20 - 4} + \frac{\cos x}{3 - 40} + \frac{4}{4}$$

$$= \frac{xe^{2x}}{2} + \frac{\cos x}{3 - 40} + \frac{4}{4}$$

$$= \frac{xe^{2x}}{2} + \frac{\cos x}{3 - 40} + \frac{4}{4}$$

 $= \frac{\chi^2 e^{2\chi}}{9} + \frac{3\cos\chi - 4\sin\chi}{9 + 16} + 1$

Scanned with CamScanner

$$\Rightarrow \frac{\chi^2 e^{2\chi}}{2} + \frac{3\cos\chi - 4\sin\chi}{25} + L$$

So, soution, Meris.

$$y = y_{\rho} + y_{c}$$

$$= c_{1}e^{2x} + c_{2}xe^{2x} + x^{2}e^{2x} + \frac{3\cos x - 4\sin x}{2} + 1$$

2. We have
$$[D^2-6D+9]y = \frac{e^{3x}}{x^2}$$

A:E, $m^2-6m+9=0$
or $m=3,3$
: $y_c = (4+6x)e^{3x}$
Let $y=Ae^{3x}+Bxe^{3x}$ be the completed equation.

A = - Jadastky

fut
$$y = A e^{3x} + B x e^{3x}$$
 be the complete solution of the given equation.
we have $y_1 = e^{3x}$ $y_2 = x e^{3x}$
 $y_1' = 3e^{3x}$ $y_2' = 3x e^{3x} + e^{3x}$
 $W = y_1 y_2' - y_2 y_1' = e^{6x}$ Also $\phi(x) = \frac{e^{3x}}{x^2}$
 $A' = \frac{y_2 \phi(x)}{w}$ $B' = \frac{y_1 \phi(x)}{w}$
 $A' = -x e^{3x} \cdot e^{3x}/x^2$ $B' = \frac{e^{3x} \cdot e^{3x}/x^2}{e^{6x}}$
 $A' = -y_2$ $B' = \frac{y_1 \phi(x)}{w}$
 $A' = -y_2 = \frac{e^{3x} \cdot e^{3x}}{w}$ $B' = \frac{e^{3x} \cdot e^{3x}/x^2}{e^{6x}}$

B= 12 datk2

substituting there in
$$Y = Ae^{3x} + Bxe^{3x}$$
,

 $Y = (-\log x + k_1)e^{3x} + (-\frac{1}{2}x + k_2) xe^{3x}$
 $Y = (k_1 + k_2 x)e^{3x} - e^{3x}\log x - e^{-3x}$

The term $-e^{3x}$ can be reglected.

Thus $Y = (k_1 + k_2 x)e^{3x} - e^{3x}\log x$

3. (niver
$$(2x+3)^2y'' - (2x+3)y' - (2y = 6x - 1)$$

Let put $(2x+3) = e^{t}$, $(2x+3) = t$
 $\Rightarrow x = \frac{e^{t}-3}{2}$

We have $(2x+3)y'' = 20y$
 $(2x+3)y'' = 40(0-0)y'$

By (1) $(40^2-60-12)y' = 6(\frac{e^t-3}{2})$
 $(40^2-60+12)y' = 3(e^t-3)$

Af $(4n^2-6n+12=0)$
 $(4n^2-6n+12=0)$
 $(4n^2-6n+12=0)$
 $(4n^2-6n+12=0)$
 $(4n^2-6n+12=0)$

$$y_{c} = cf = c_{1}e^{\frac{2+\sqrt{5}t}{4}} + c_{2}e^{\frac{3-\sqrt{5}t}{4}}$$

$$y_{p} = \frac{1}{40^{2}-60-12}$$

$$= \frac{3e^{t}}{40^{2}-60-12} - \frac{9e^{0.t}}{40^{2}-60+12}$$

$$y_{p} = \frac{3e^{t}}{4(1)-61-12} - \frac{9.e^{0.t}}{0-0-12}$$

$$y_{p} = -\frac{3e^{t}}{14} + \frac{3}{4}$$

$$y = y_{c}+y_{p}$$

$$y = c_{1}e^{\frac{3+\sqrt{5}t}{4}} + c_{2}e^{\frac{3-\sqrt{5}t}{4}} + \frac{3e^{t}}{14} + \frac{3}{4}$$

$$y = c_{1}(2x+3)\frac{3+\sqrt{5}t}{4} + c_{2}(2x+3)\frac{3-\sqrt{5}t}{4} + \frac{3}{4}$$

$$4xe_{1} = 3xiii_{1} + 3xi_{2} + c_{3}(2x+3) + \frac{3}{4}$$

4. (niver
$$x^{3}y^{11} + 2x^{2}y^{11} + 2y = 10(x+\frac{1}{x})$$

we put $x = e^{\frac{1}{x}}$ or $\log x = \frac{1}{x}$
put $xy^{1} = y$
 $x^{2}y^{11} = y$
 $y^{3}y^{11} = y$
 $y^{3}y^{11} = y$
 $y^{3}y^{11} = y$

Then given eq. (D3-02+2)
$$y = 10(e^{4} + e^{-4})$$

A'E $m^{3}-m^{2}+2=0$
 $m = -1$, $1\pm i^{3}$
 $y_{c} = (e^{-4} + e^{4}) [y_{con} + y_{con} + y_{con}]$

Now $y_{p} = \frac{1}{D^{3}-D^{2}+2} + \frac{e^{-4}}{D^{3}-D^{4}+2}$
 $y_{p} = 10 \left[\frac{e^{4}}{1-1+2} + \frac{e^{-4}}{1-1+2}\right]$
 $y_{p} = 10 \left[\frac{e^{4}}{2} + \frac{e^{-4}}{3D^{2}-2D}\right]$
 $y_{p} = 10 \left[\frac{e^{4}}{2} + \frac{e^{4}}{3D^{2}-2D}\right]$
 $y_{p} = 10 \left[\frac{e^{4}}{2} + \frac{e^{4}}{3D^{2}-2D}\right]$

yp = set + atet

20 Complete Solution

5. Given
$$\frac{\partial^{2}q}{\partial t^{2}} + \frac{q}{Lc} = \frac{E}{L} \quad \text{Denoting},$$

$$\lambda^{2} = \frac{1}{Lc} \text{ and } L = \frac{E}{L}$$

$$\Rightarrow \quad (D^{2} + \lambda^{2}) q = L$$

$$\text{HE} \quad m^{2} + \lambda^{2} = 0 \quad \text{i.} \quad m^{2} + \text{i.} \lambda$$

$$cF = q_{c} = c_{1} \cos \lambda t + c_{2} \sin \lambda t$$

$$P \cdot L = q_{p} = \frac{L}{D^{2} + \lambda^{2}} = \frac{L}{D^{2} + \lambda^{2}} = \frac{L}{\lambda^{2}}$$

$$\Rightarrow \quad q^{1} = q_{1} \cos \lambda t + c_{2} \sin \lambda t + \frac{L}{\lambda^{2}} \qquad 0$$

$$\text{Also} \quad q^{1}(t) = -\lambda c_{1} \sin \lambda t + \lambda c_{2} \cos \lambda t \qquad 0$$

$$\text{But} \quad q^{1}(0) = 0 \quad \text{and} \quad q^{1}(0) = 0 \quad \text{by data}$$

$$\text{Hence (1)} \quad \text{ond (2)},$$

$$0 = c_{1} + \frac{L}{\lambda^{2}} \quad \text{and } 0 = \lambda c_{2} \Rightarrow c_{1} = -\frac{L}{\lambda^{2}} \quad \text{and } c_{2} = 0$$

$$\text{By (1)} \quad q^{1} = -\frac{L}{\lambda^{2}} \cos \lambda t + \frac{L}{\lambda^{2}} \quad \text{otherwise} \quad \text{where} \quad L^{1} \lambda^{2} = \frac{E}{\lambda^{2}} \cos \lambda t + \frac{L}{\lambda^{2}}$$

$$\text{Thus} \quad q^{2} = \frac{L}{\lambda^{2}} \left[1 - \cos \lambda t\right] \quad \text{where} \quad L^{1} \lambda^{2} = \frac{E}{\lambda^{2}} \cos \lambda t + \frac{L}{\lambda^{2}} \cos \lambda t + \frac{L}$$

Given
$$f(z^2-xy, \frac{\chi}{2})=0$$

Case have
$$u = z^2 - xy$$
 $u = \frac{x}{z}$

So $\frac{\partial u}{\partial x} = 2zp - y$ $\frac{\partial u}{\partial x} = \frac{z^2 - xp}{z^2}$

$$\frac{\partial U}{\partial x} = \frac{z^2 - xb}{z^2}$$

$$\frac{\partial y}{\partial y} = 22q - x$$

$$\frac{\partial u}{\partial y} = \chi \left(-\frac{q_1}{Z_2}\right)$$

To eliminate f,

$$\Rightarrow \begin{vmatrix} 2zp-y & \frac{z-xp}{z^2} \\ 2zq-x & -\frac{xq}{z^2} \end{vmatrix} = 0$$

7. Given $\frac{\partial^2 z}{\partial x^2} + 3 \frac{\partial z}{\partial x} - 4z = 0$, z = 0 , z = 0 , z = 0when x=0 The given PDE anumes me form of an ODE where D=d $(D^2 + 3D - 4)Z = 0$ AE is $m^2 + 3m - 4 = 0$ Or (m-j(m+4)=0 => The solution of the ODE $Z = Ge^{\chi} + Ge^{-4\chi}$ Solution of the PDE $Z = f(y)e^{x} + g(y)e^{-4x}$ — ① dynpartially w.st x, we get $\frac{\partial z}{\partial x} = f(xy)e^{x} - 4g(y)e^{-4x} - 2$ By data, z=1 and 2= y when x=0 Plenee (120) becomes 1 = f(y) + g(y) and y = f(y) - 4g(y)By solving f(y)= = (4+4) & g(y) = = (1-4) me substitute there in (1) Z= f(4y)ex+f(1-y)e-4x) is the Required Solution.